l
| c
aE &% A B C D E F G H | J K
! 1 TS-4X2-01L 4X2-R1/8 18.5| 3.5( 7.0(4.35 | 1.75/ 0.9 |18.5| 11 | 5 | RL/8 [M8XO0.75
| 2 TS-4X2-02L 4X2-R1/4 18.5| 3.5| 7.0|4.35 | 1.75 0.9 22.0| 12 | 6 | R1/4 [M8X0.75
| 3 TS-4X2.5-01L | 4X2.5-R1/8 | 18.5| 3.5| 7.0 4.35 | 2.35| 1.3 |18.5| 11 | 5 | R1/8 |M8X0.75
| 4 TS-4X3-01L 4X3-R1/8 18.5| 3.5| 7.0(4.35|2.75 2.0 |18.5| 11 | 5 | R1/8 [M8X0.75
. 5 TS-6X4-01L 6X4-R1/8 18.5| 3.5| 7.0|6.46 | 3.75| 2.7 | 18.5| 11 | 5 | R1/8 | MIOX1
/ | 6 TS-6 X 4-02L 6X4-R1/4 2.0 3.5(7.0(6.45[3.75( 2.7|22.0] 12 | 6 | R1/4 | MIOX1
i w 7 TS-6X4.5-01L | 6X4.5-R1/8 | 18.5| 3.5| 7.0|6.45 | 4.25| 3.2 [ 18.5| 11 | 5 | R1/8 | MIOX1
_____ N 8 o T T T T 8 TS-6X4.5-02L | 6X4.5-R1/4 | 21.0| 3.5| 7.0 6.45 | 4.25| 3.2 [ 22.0| 12 | 6 | R1/4 | MIOX1
n 9 TS-8X5-01L 8X5-R1/8 2.0 3.5(7.0(8.45 [4.75/ 3.7|21.0| 11 | 5 | R1/8 | M12X1
2 10 TS-8X5-02L 8X5-R1/4 2.0 3.5(7.0(8.45 [4.75/ 3.7|22.0] 12 | 6 | R1/4 | Mi2X1
.n_: 11 TS-8 X 6-01L 8X6-R1/8 2.0 3.5(7.0(8.45 [5.75) 4.7|21.0] 11 | 8 | R1/8 | Mi2X1
! \ 12 TS-8 X 6-02L 8X6-R1/4 2.0 3.5(7.0(8.45 [5.75) 4.7(22.0] 12 | 6 | R1/4 | Mi2X1
s i K 13 TS-8 X 6-03L 8X6-R3/8 2.0 3.5(7.0(8.45 [5.75) 4.7(26.0] 13 | 8 | R3/8 | M12X1
I 14 | TS-10X6.5-02L | 10X6.5-R1/4 | 25.0 | 4.5 | 7.0|10.50 | 6.30| 5.2 | 25.0{ 12 | 6 | R1/4 | M15X1
| 15 | TS-10X6.5-03L | 10X6.5-R3/8 | 25.0 | 4.5 | 7.0|10.50 | 6.30| 5.2 | 26.0] 13 | 8 | R3/8 | MI5X1
| 16 | TS-10X7.5-02L| 10X7.5-R1/4 | 25.0 | 4.5 | 7.0 |10.50| 7.25| 6.2 | 25.0{ 12 | 6 | R1/4 | M15X1
! J 17 | TS-10X7.5-03L| 10X7.5-R3/8 | 25.0 | 4.5 | 7.0|10.50| 7.25| 6.2 | 26.0| 13 | 8 | R3/8 | MI5X1
| 18 TS-10X8-02L | 10X8-R1/4 | 25.0 | 4.5| 7.0 (10.50| 7.75| 6.7 | 25.0| 12 | 6 | R1/4 | MI5X1
i 19 TS-10X8-03L | 10X8-R3/8 | 25.0 | 4.5 | 7.0 (10.50| 7.75| 6.7 | 26.0| 13 | 8 | R3/8 | MI5X1
l 20 TS-12X8-03L | 12X8-R3/8 | 25.0 | 4.5 | 7.0 (12.50| 7.70| 6.6 | 26.0| 13 | 8 | R3/8 | MI7X1
21 TS-12X9-02L | 12X9-R1/4 | 25.0 | 4.5 | 7.0 (12.50|8.70| 7.6 | 25.0| 12 | 6 | R1/4 | MI7X1
22 TS-12X9-03L | 12X9-R3/8 | 25.0 | 4.5 | 7.0 (12.50|8.70| 7.6 | 26.0| 13 | 8 | R3/8 | MI7X1
v — . = =

FFRE 900835 % gy TrRusco SAILEESH FE sooron oz | BF 15iax0-01L~12x9-03L




